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Test-I Engllsh Language

.:_;i'!'_j?: D:rectmns (Q 1
%; - sentenm (A), (B), (C),
@ furm a meaningful p
l___:quastiuns

|"; .,f

-S): Rearrange the following five
(D)and (E)ina proper sequence to
aragraph, then answer the given

(A) The big orange truck was playing music and had
bells that chimed repeatedly.

.. (B) When Lisa approached the truck, the man inside

- itsaid, “Here you g0, young lady, enjoy your ice-
cream sandwich.”

: (C) Liisa was amazed and sald “What a brilliant idea

E you; g0 out and find them!”
(D) Several people attracted by the bells were walking
up to it and speaking to a man who stood inside
REAN. ! It.
- (E) One day, Lisa walked to the front of her house
i and was surprised to see a big orange truck on
the street.

1. Which of the following should be the SECOND
'~ sentence after the arrangement?

DA 2B 3)C 4)D 5)E

~ Which of'the following should be the FIRST sentence
 after the rearrangement?

= DA 2)B 3)E 4)D 5)C

3. Which of the following should be the FOURTH
g:__-§é1’_1tenc§: after the rearrangement? |

DA 2B 3)C 4)E 5)D

. afterthe rearrangement?
¥, 2)B 3)C 4)D 5)E

fere e

o1 ""nce after the rearrangement?

Lo 2E 3)C 4)D 5)B
irections (Q. 6-15): Read the following passage
:;'rf'::;;:fiand answer the questions given. Certain words/
ses have been given in bold to help you locate them
e answering some of the questions.

y 1 "f)tlfne ago, there lived a gardener. He was
vorking and honest. He had planted different fypes
ers E:'=1sn:ge!:al::]fs:s in his garden He had a younger
ther who was foolish and lazy. He would never help the
ferior in: ii?érk Instead e would say, ‘There is no

this i is; don’t wait for your customers to come to'.

Whlch of the following should be the THIRD sentence

tich of the following should be the LAST (FIFTH)

need to work so hard. Brother! Nature will take care of
itself.’

Ongce it so happened that the gardener had to goto a
nearby town for a week. ‘Please water the plants and trees
in my absence!” said the gardener to his younger brother,
‘Seme plants need to be watered daily while some others
only on alternate days.’ the gardener explained. But his
words fell on deaf ears. The gardener left for the town.
Now the lazy brother thought, *Why should I bother about
these plants and trees? My brother is away and he wouldn’t
know whether I am watering his garden or not.” Then, he
went to sleep as usual,

- Two days had passed. Now the small plants had started
dying up. The lazy fellow glanced at them and laughed.
‘Hahaha! Poor dumb plants! They cannot even complain
to my brother that I am not watering them!” After a week
when the gardener returned, he was shocked to see the
miserable condition of his garden. Most of the plants had
died, the climbers had dried and the trees looked diseased.
*So it seems you didn’t water the plants,” he yelled at his
lazy brother. ‘I did. But the plants were of bad quality, so
they died!” said the lazy brother.

The gardener knew that it was no use talking to his
brother. So he cleaned | is garden and nursed the diseased
trees. He then went to the market and brought some seeds.

‘When his brother saw him preparing to sow the seeds, he

came near him. ‘And that's it. Brother! Don’t 1 tell you that
nature takes care of itself? See those seeds! You will sow

 them and once again your garden will be ready as green as

ever.” ‘You are right,” said the gardener. “But have you ever
thought about where these seeds come from?, “From the
market, of course!” replied his brother, *And how did they
reach the market?’ the gardener asked again. This time his
brother had no reply, ‘Uuuuuhm!” he kept searching for
words. ‘Il tell you!" said the gardener. “The seeds also
come from the plants and trees. If we don’t take proper
care of the plants; the seeds too will die. And a day will
come when there will be no new seeds to sow. How will
you grow plants then? And how will you get vegetables
and fruits? Just think! Won’t you die of hunger?® ‘Oh, 1
never thought that way!’ the gardener’s brother shrieked.

© “It’s true that nature takes care of itself. And it cares for us

too, That’s why it has given us seeds. A small seed contains
the blggest secret of nature. All that we need to do isto

unﬁald matsecret It has so much power init. it can make d :



1 ¢ Vil f;fmw%wu aware of the secret of nature,
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i plants, because of this his plants died,

;;_____i_;;_-j:j;j__,_.-,;.i;_r_'.;%iﬂﬁnefafmeagiven st‘atcm'ents is true
< ;_ﬁpoae ﬂw word whlch 15 most nearly the OPPOSITE

2) shart
5) agrce

f,'e phrase ‘fell on deaf ears as used in the story‘?
;1) W&r& heard and acceptcd

}):*@Jere t0o soﬂ
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wante:d to get a different vanety of‘ seeds
Ljia uﬂshed 10 vlsn one of hlS oId frzends
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LA, 'lill

'_;"'If:he w,&ntad to bu1 ld a house fnr hlS brother
: ;:’m clea:ly»ment:oned inthe story =~

P e e = -..F

.'_13.- Which of thafifbﬂ@ggmg chara{:tensucs of
in ““m‘ﬂﬂﬂ the plams and_ -

r___:l_lgaving for thc tnwn thc gardcner knew e
f'«_}'quld fall ta campletc the task asmgned to

%"‘“‘ﬁg mgﬁﬁﬂﬂﬁd in the stdry, the gardener hacl to go to a

‘Wh ¢h*‘dfﬂ“lﬁ fﬁuowmg is most nearly the OPPOSITE | 5%
it “j"}:ofthe ward ‘NURTURING’ as used in the

Hoiy@ A}Onhtf:)
5) Both(B) and (C)

gardengr’s hrot&ermms acmss distmcth at lh.,
 of story? A
s He started rﬁpecnng his parents
~ 2)Hebecame violent.
_ 3) His hatred towards' hxs brnther ampliﬁcd
4) He became depressed.
5) He became sensifive towards nature.
14 Which of the following is most nearly the SAME i,
~meaning as the ward ‘BOTHER’ as used in the
o passage? iniora o - |
= l)wan'y 2 e e '2-)!__.:_;:‘ﬂnt¢m
3) apprchend ~ 4)doubt
~Skin: == SR
15. Which of the follﬂwmg can be an approprmlt title fo
the story? =
1) Too Late to Repau' thc Damage
~ 2) The Jealous Brother
3) The Idle Gardener
4) The Secret of Nature
'5) The Fate of Dlsappeanng Plants
Directions (Q. 16-20): Read this sentence to find out

_if there is any grammatical mistake/error in it. The error,
iifany, will be in one part of the sentence. Mark the part
‘with the error as your answen If thereis no error mark,

mark ‘No error’ as your answer. (lgnorc the errors of

punctuatmn, if any) _
16, There was / once a gardene,r / who took care / of the
| _,_j_kmg s garden. _ s
D) THerewasio ol e _'__"_31) once a gardener
~3)who took care ~ 4)ofthe kiug’s garden.
- 5)No error e

17. Byandby, the fox / comes to a stream / Lh'n ran through

the forest, / and quenched his thirst.

- ‘1) By and by, the fox

~ 2)comestoastream
- 3) that ran through the forest,
~ 4)and quenched his thlrst
S)Noerror

S g The giant entéred / the fﬂresl at night / when all the

~ animals were asleep.

1) The giant entered .Z)the forest at night
) whenallthe 4) animals were asleep
5)Noerror

' 19 The ant realise that/a plgean smmg on thc free / had

~dropped a leaf/ into the water to save him.
1) The ant realise that
~ 2)apigeon sitting on the tree

- 3) had dropped a Jeaf

4) into the Wﬁtﬁftﬂ save htm

~ 5)Noerror
'20 While trying to pick up / the few fallen ones, / the




- monkey dropped almost /
hands.
L) While trying to pick up
2) the few falien ones,
3) the monkey dropped almost
4) all the fruits encased his hands.
5) No error &
: Directions (Q. 21-25): In this question, a sentence
with four words in bold typeis given. One of these four
?v:}rds given in bold may be either wrongly spelt or
mapprupriate in the context of the sentence. Fiﬁnd ouf the
?mrd which is wrongly spelt or ina ppropriate. That word
IS your answer. If all the words given in bold are correctly

Speit and also appropriate in the confext of the sentence,
mark “All correct’as your answer.

all the fruits encased his

- 21. Leaders and mangers must communicate well with
' employees, customers, investors and society as a
whole.
l) mangers 2) communicate  3) employees

4) whole 5) All correct

The government will push through economic reforms
once the knew financial year begins.
1) push 2) knew 3) financial
4) begins 5) All correct
s Committees have been asked to dispoze of all grievance
petitions within the next fortnight.

1) dispoze 2) petitions 3) within
4) fortnight 5) All correct
Generally gift cards do not allow a cash refund and
- have a validitie period.
1) Generally 2) allow 3) validitie
| 4') period 5) Al correct
_~ 25. Printing money to boost the economy is a threat to
.~ financialstablety.
. 1)Printing 2) threat 3) financial
4) stablety 5)All correct
= Directions (Q. 26-30): In the given passage, there
%5% re blanks each of which has been numbered. Against
ﬁ ""Wh, five words are suggested, one of which hﬂts the blank
__ appropriately. Find out the appropriate word in each case.
= Once upon a time there lived a spider named Anansi

c:i was gifted a pot of wisdom to share among all the
'ﬁafures of the world. But Anansi was unwilling to share

" ,; !mth anybody and decided to (26) the pot at the top of a
“*sr tree With the pot at his waist in front, it was (27) for

. his father’s awkward ascent,

bnansi to climb. Seeing his 1athth s @4 ERC
| Aninei’s son was (28) and advised him ‘Father, why don't
G S | - back (29)?° Anans did so and

£wisdom he lacked common SEuse. Angry ?1111111']]5{.3”"
w the pot down, where it broke into pieces and

§ lsdom scattered among all the creaturcs. ide
e 2) vanish 3) hide

5y unearth

He (30) that though he had

27 ljtired 2 ydifhcult 3ychsllenge
43risk 3) safely

28, 1) laughing ) worrving 3} anxicush
4} busy 5) amused

29. 1) lied 2) alternative 33 subseguent
4) instead 5) perhaps

30. I@)realised 2yachieved 3} recognise

4} aware

e — e,

5) understand

e m—
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Directions (Q. 31-35): In this question, a group of
numbers/symbols followed by five combinations of letter
codes is given. You have to find out which of the
combinations correctly represents the group of the
numbers/symbols based on the given coding system and
the conditions and mark that combination as your answer.

1 | E } |
Nambet/sl paatslal+ 127 $1&| #1%|8{3]|S |9
symbol % \

Letter 4 ot lalt|ulelmisiplzlB K!_‘i GlY]

code | } -
Conditions:-

I. [f the first and the last elements are symbals then
their codes are to be interchanged.

[I. If a symbol is immediately followed as well as
immediately preceded by a number then that symbot
is'to be coded as “ 1.

[ Ifthe last element is an odd number then the second
element is to be coded as the cede of the odd
number.

IV, If the third element is an even number then the
code of that éven number is to be interchanged
with the code of the first element.

(Please Note: All the elements have to be counted

from left to right to fulfil the conditions.)

31, #@3+42

1) ZDX THE 2) EOKUHZ 3} ZKEIDH
4)EDXIHZ 5)EDUXHZ

32, ’BA@SST
DLMDAIM  2)LTMAKM  3)DTLAKM
AHLMKDAM  5)DTUXAM




DXEDZIL,

HLYDITG
 DGHAIEZ 3 Bﬁ?:mc
SIAHGEZB

language, ‘avoid gnmg out’ is cm
5 319", Similarly, 'going for' party” is coded as '612°
;fmm is coded as *362', What will he
©ade for ‘party’ in the given code language?
2}1 g
Sl -”-‘m 11’ 3) Either 2'or ‘6 |
 Dir (Q. 3741); Study the following information
efully an Mﬂ the given questions.
o ;W X, Y and Z are sitting around a circular
) ] ﬂlt centre but no necessarily in the same
or 'j S sits third to the right of T. Only three people sit

= --,..--\-

«IJ ﬂl’ld x Uis neither an immediate neighbour of §

......

Tt nl ;r thrcae people sit between T and W. Z sits on

ol ﬁ'om the nght of S7
; :f_jNang__ 2)Two . 3)Four 4) Thrce 5)One
8. Who amongst the following represent the immediate
e &hbnurs of §? |
DXY DXZ HWY HW,X 5HVY
s p among the following sits second to the left of Y7
u- 23X 3 W 4)Z 3)S
40, ;E,‘ﬁur af the following five are alike in a certain way
1 "””fjjf’m on their positions in the given arrangement and
=2 x"f"‘-fi_j'__rm a group. Which is the one that does not
elong  to the group? oy |
JUYV - 2)TVY  3)SWU 4)‘ XSZ 5 VXW
hicl "'iﬁinﬂngst the following is true regardmg V, as

,. dto ._th.a. ﬁght- of Y-_.
ple sit between V and Z.
f 42-43) Stndy the given information
ly to answe ﬂm ziven question.
car: LR, S and T each hasa dlfﬁerent mileage.
m ﬁ e than only one car. Both Q and T have
39¢ th: Pbut less;than S. Q has more mileage

_an i Th qcar Whlch has the hlghestg'
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#)tiwﬁ'ﬁ: 53"” f"g"m,.m
Direct i t m&gmw in the statemen:

Them m 6y -_;"wmm&:&mm‘mzm th
, lm i “ﬁ';m;mwtﬂtﬂ} and g

conciusions base
- appmpﬂ;mm
- f&z Statement:  QsU<1sC=K
Condw LUK
13mmmm;mnmm
- 2) Only conclusion 1 s true.
3} Either conelusion I or 11 is true.
4) Neither conclusion 1 nor Il is true.
5) Only conclusion 11 is true.
45. Siatements: T=A<Xs5 E<X
Conclusions: L T<S H.T>1
1) Only conclusion I is true,
2) Either conclusion I or Il is I:nuc
3) Ne:thcr conclusion [ nor i1is true.
4) Only conclusion [ is true.
5) Both conclusion I and [ are true.
46. Statement: 2 H=Y2P=E>R
Conclusions: LE<H
|) Both conclusion | and I are true.
2) Only conclusion I is true.
3) Neither conclusion I nor 11 is true.
4) Either conclusion ! or I is true.
5) Only conclusion I is true.
47. Statement: J=U<N<E
Conclusions: LJ<E
1) Both conclusion I and 11 are true.
~2) Only conclusion 1 is true.
3) Only conclusion I1 is true,
4) Either conclusion I or 11 is true.
5) Neither conclusmn I nor [ is true.
48. Statement: D{O}N::l(cy
Conclusions: L D>K
1) Either conclusion Ior 11 is true.
2) Only conclusion I is true,
-3) Both conclumﬁn Land I1 are true.
4) Neither cﬂncluswn I nor I1 is true.
5) Only conclusion 11 is true.

Directions (Q. 49-53); This question is based on (he
five three-d}git nnmbm given. below,
528 247 724 285 - BS56
49. 1If ‘2’ is addw] 10 !hﬁ ﬁ!{ﬁt digit of every odd numbet
and ‘3 is subtracted from the third digit of every cve
number, then in how ‘Mmany numbers will a digit appea
twice?,.

1) Three - 2) One

Q¢

ILY>R

k=]

ILY <O

3)1\?0 4)N'Gn¢ 3} Four



._f __- [éﬂ to nglﬂ, which
| ___thn thrm: dtgam af t
"rigilt“ S
Hiy 2)16 3) l'i

4) 14 5)19

-~ are muiuplrcﬁ?

1y42 2)24 3} 0 4}35 S)?.ﬂ -
4 The poaitmns of the ﬁrst and thn third dig:t of ::ach'é}f
the numbcfs are micrchﬂnged What will bcresultant
A :;; th;ez r;t dag‘u of the lowest number thus formed is
- divi se
- fnnngdv € ;pnd digit of t’nv: h:ghest numbcr
| D e PB4 4)25 5)3 &
. I in each number all the digits are arranged in
-_descendmg order from lefi to right within the number,
how ma;ny numbers thus formed will be odd numbcrs‘?
I)None 2) Three  3)Four 4)One  5)Two

refhlty and answer the given questions. e

P is the father of D. D is the only son of T. T is the
'i_,:_,ughter of J. T is the mother of G. G is the sister of V.

4. Iflis married to B, then how is B related to G?
T 1) Dauﬂhter-m-law 2)Son-in-law

= 3)Father | 4) Mother
~ 5) Cannot be determined |
. Howis VrelatedtoP? |
~ 1)Daughter ~  2)Father 3) Mother
- 4) Cannot be determined 5)Son

~ TIMELY each of which has as many letters between
'them in the word (in both forward and backward

: dzrcctlons) as they have between them in the Engl:sh'

= alphabencal series?
1)Two © 2)None 3) Threc'
| 4) One 5) More than three
Ifall the numbers in 86312749 are arranged in ascending
-'ﬂrder ﬁ‘om left to right the pos:tmns of how many

=2 . 2)One .3) Two

,) More than three | 5) None
lrectlons (Q.58-62): Study the following information
iswer the given questions.

vini the same order.
"-"g'éecgnd to the right of T, U sits third to the right

third to the left of S. S does not sit at any of the
"ﬂslof the line. Only one person sits between S

ﬁﬁbngst the followmg sits exactly in the mlddle

U 41 5) 3

m m;gﬁd in a.ﬁwndiﬂg :m:ier frmn <
of the following will be sum of all
he numbver whh:h 18 Ih:rd fmm :he__':

 Whatwill be the resultant if the third digiatthalowest
number and the ﬁmnﬂ dig;t of the h:g}mst number.

Directinns (Q 54-55): Study the following informaﬁn.n

. How many such pairs of letters are there in the word

1,1, S, TandUare seated ina straight line facing
-"t'h equal distance between each other, but not

61

~ 3) Founth to the left
5y Third to the lefi
. Whe amongst the annwmg sits on 1hrr immediate lefl

P b i ol nai e L i ST B l- - !‘ - Ty ¥ ]vuﬂ i

. How 'mar':y persons are seated between | and 87

HNOne  2)Two - 3)Four  4)Nope 5)Three

Which Df the follewing represents persons '-:cah,d at
21 the tivo exm:mc ends of the fine?
QU

NEG: 3Gl P .1
What is the position of U with respect to G2
l)ﬁcﬂund totheright  2) limmediate left

4) Fifth to the right’

of H?

N =96 351 43U ST

. Inacertain code language, BLUNT is coded as AKSOU

and COINS is coded as BNGOT. In the same code
language, how will TRUST be coded as?

DSSTUV - 2}SOTRS BROSRS
4)SQOSTU 5)RSSON

. All the letters of the word HALFTIME are arranged in

alphabetical order from lefl to right. Then all the vowels

~ are replaced with the next alphabet (as per the English

65.

alphabetical order). Which of the following will be the
second letter from the left end?

1 H NDE - 3IIM HL NE

There are six persons seated in a row (facing north). C
sits_sixth from the right end of the line. Only three

- persons sit between C and M. B sits second (o the

right of X. Only two persons sit between N and K.
How many persons sit between B and C7?

)One 2) Three

3) Can’t be determined 4) Four

3) Two

—- e — -

Test-III Quantltahve Aptlmde

'6'5‘

| 4)l9years
67.

A wm o wwew

Six years from now, the average of Monu s age that

~ time and Ninu’s age that time will be 29 years. Five

years ago, if the ratio of Monu’s age to Ninu’s age
that time was 11 : 7, what is Ninu’s present age?

1) 17 years 2) 33 years 3) 27 years
5) 22 years
Rahim spends 60% of his monthly salary on rent, E‘\Al
and misceilaneéous expenses in the ratioof 2 : 1 : 3. if
he spends a total 0f 16050 on rent and EMI together,

" how much is his monthly salary?

69.

e (A = ,-unnmrr‘t r:uanr‘u mm ; - _.-i;;-'-

1)X50300 2)349600
4)?53500 5)354500 :
There are seven positive observations. The averave
“ofthe first four observations is 11 and that of the '-aat
four observations is 8. 1f the average of these scven
observations is 9, what is the fourth obsmat;un
il ) O 3)8 41t Sy13
Prem invested a certain sum in SchemaA which ofiers
simple interest at the rate of 8% per: year for 4 years
He alsn mvested ?2000 in Schem B whmh offers

- 3)%46750




#pmmd interest _(&ﬁipo.ﬂnde"d annual ly) at 20% pa

for 2 years. If the interest carmed from scheme A i

= of the interest earned from scheme B, what is the

5n¥¢5ted inscheme A?

,§g§§§G” ; :2)?3000f.  1_

. HT3600 5) None of these

70. TWo trains started running from the same point at the
same time in opposite directions (one towards Nogth

_and the other towards South). The speed of the two

trains is 22 m/s and 8 m/s respectively. How much time
will they take to be 378 km apart?

1)3h30minutes 2)3h20 minutes  3)4h 30 minutes
4)4h 52 minutes  5) None of these

3)74500

A SRS e e e (e {
%__-ipfa.numher Is two less than > of another number,

pibduez - - |
DREEDI6 - 954 hes . 556

- Directions (Q. 72-81): What will come in place of
q"uestionmark(")m the given question?

2. 9 xT+ G ~64=5

[fthe sum ﬁfthetwﬂ numbers is 15, what is their

4)6 5)3

20 2)210  3)270
gx450)=5=2/x 3t
3 2 3 59

2601+4/169 =87
10008 )9 ayg

4)230  5)250

H-1 . 52

47 96

LT At A

e e = | :
1255424275+ ) x = =480
)ISLTS 217275 3)219.75 4) 18925 5)21125

. 6

4S99

81.

1148 2156  3)152 4174

45% of 360+ 288 =% 0f 750
])651 "”2}60: | ¢3)?U .. 4)75

o (87"619) g
D56 266 364 49l
35%0f580+70%of 2=441
1)380  2)340  3)360  4)320
40-48%78+7=1480 -
D670 2)930 3)650 4870 5830
‘The selling price of 16 chairs is equal to the selling
price of 6 tables. If the total selling price of 5 chairs
and 3 tables together is 780, what s the total sellin g
price of 2 chairs and § tables together?

D920  2)960 3)I980  4H)T1060 5)T860

5165

i s

)74

3)280

. The sum of two positive numbers is T630. [f 75% of
 the first number is equal to 60% of'the second number.

what is the larger number ameng the two?
1)280 2)340  3)350 4420  5)270
A boat can travel 10.2 km upstream in 51 minutes, If

the speed of the current is ‘;‘ of the speed of the boat
in still water, how much distance (in km) can the boa:
travel downstream in 48 minutes?

J) 144

A started a business by investing 4200 and afier 2
months B joined by investing T3000. At the end of 4
months from the start of the business, C joined with

an '-'invcstmcn_t‘of" <6000. At the end of 10 months from

- finish the rema
~ days of working did A leave?. _
- D6days 2)5 days 3)3 days 4)4 days 5)8 days

the start of the business, A added an additional amount
of *1800. If A’s share in the annual profit was 1620
what was the total annual profit?

DR39%60 2)3080 3)%4070 4)T320 574180
AandB can independently finish apiece of work in 36
- days and 45 days ra)tpectivcly, They started working

together and after few days A left. After that B could

Ining work in 36 days. A fter how many

The perimeter of an equilateral triangle is 21 m more

 than the perimf:ti:!r of'a square. If the ratio of the side



_é._.;:._ot the tnangle ta the Sldﬁ of
L D25 2)225 s il 5)81

. rectangle, If the len,

_;: j-length °f the rectangle? (in centlmetres) -

15 39 :.In what ratlo nce of vanety A worth ?36 must be mtxcd |

e with rice of s vanety B worth 48, 5o that the new mixture

= '.'::__;5_.(0f both the varletles A & B) is worth ?‘45‘? i

- b 3 su 3)4is gy 932

e "fmrﬂtlonﬂ Q. 90-94) ‘What will come in place of
question mark (?)in the gwen quesmmq S

“ %41 42 45 54 281

o - biw %ie - 31 134 His 2

91 350 334 966318 9 3024 . =
. D3 0395 /3% 4)34  54n
2. 164 84 44 24 14 9 CEe s
= b7 94 35 4)9 56
12 ? 6 9 18 45 |

1)233 2)394 3265 425  5)192
=5 -'Ihe profit eamed by selling an article for ¥590 is double
- what was incurred when the same article was sold for
- %475 What would be the selling price of the article, if
= LIS sold at 20% profit?
e ':.'1)1‘432 - 2)T436 T 3)T424
. HuIs 5)3445

thesquarc 159 S whatls_ |

Dimtlﬂns (Q 96—!0{1) Study the table amd snwcr

P ;he given questions. -

I o Number of members in 5 health clubs during 3 ven years
A cu'cular copper wrre of radlus 35cmis b-ent to form a f . e - y

B gth of the rectangle is more i 0
T breadth of the rectangle by 27 cm, what is the |

T Ytar
Healﬂl clubs I - v
o 2007 2008 | 2009 | 2010 [ 2011 |
A | 145 | 119 | 136 | 140 | 238 |
B | 17711 124 | 128 | 185 | 128 |
C_ |16 | 132 | 139 | 112 | 164
D | 145 | 118 | 154 | 135 | 89
E 127 | 126 | 218 | 10] 112

%. What is the difference between the total number of
members in health clubs A and B together in 2007 and
that in health club D and E together in 20117
1) 131 2)123 3)121 H127 5133

97. 1£44% of the total numbers of health clubs A, B and C
together in 2008 are males, what is the total number of
male members in health clubs A, B and C together in
2008?

1)155  2)170 3) 160 4) 165 5)175

98. The number of members in health club A increased by
what per cent from 2009 to 20117
1)55% 2)80% 3)65% 4)50%  5)75%

99. What is the average number of members in health club
B,CandEin2010?

1)132 2)126 3)122 4) 124 5) 128

100. What is the ratio of the total number of members in
health club C in 2007 and 2009 together to that in health
club E in the same years together?

)17:23 2)19:23 3)19:21 4)21:23 5)17:21



